
 

 

Answer on Question #48411 – Math – Statistics and Probability 

A computer chip is manufactured such that every 200 chips, 10 are defective. If 20 chip are chosen at 

random from a nearly manufactured 200 chips. What is the probability that none of the chips will be 

defective? 

Solution 

This is a Bernoulli distribution with 𝑝 =
10

200
=

1

20
 and  𝑛 = 20. The probability that none of the chips will be 

defective is 

𝑃(0) =
20!

0! (20 − 0)!
(
1

20
)
0

(1 −
1

20
)
20−0

= (
19

20
)
20

= 0.358. 

Answer: 𝟎. 𝟑𝟓𝟖. 
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